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200 Mlelae
2t 210 JAEA 4L
gk 211 THAICH2=2 (St &)
ZE.-2.3.2 Ol &F oH & 0l AroH Hns2
= A 10,509,005 12,260,832 A1,751,827
200 MI2I4=2 7,495,005 7,246,832 248,173
210 BAEA 5L 3,295,905 3,037,232 258,673
211 THAUCH=2 4,300 0 4,300
211-02 ZRMAALHZ 4,300 0 4,300
<uS:HY > 4,300 0 4,300
O2{MAH ATz 4,300
212 2222 2,931,605 2,857,232 74,373
212-08 =X =242 2,931,605 2,857,232 74,373
< EXSHE > 2,931,605 2,857,232 74,373
OS2 ZIEEIE =242(124) 400,000
OFANZ ZAFIUE 2242(12€) 140,000
OZEHZY ZEFINE =242 (124) 120,000
ONPECLIZZ S BHEIE 342(128) 30,000
EC2R ZYRINE 234 (121) 30,000
OSHIEZHZ DAFINE 22342 (124)
160,000, 0002 (160,000,000 /11) 145,454
Ost IS 2242(128)
(200,000,00024-(200,000,0002 /11)) 181,818
O EEL0|2 2E=IE 2242(128)
(120,000,0002-( 120,000,000 /11)) 109,090
OHAHSEOE 22X BAFINE =322 (128)
200,000, 0002/-(200,000,000&/11) 181,818
OU2Y ZY=XE @24-2/(121)
(35,000,0002-(35,000,00024/11)) 31,818
O3S AT A DIAFXE e24+2(12d)
,000,000&-(20, 000,000 /11) 18,181
Ot NSEFH & ZIAZIHE 2342(124)
60,000,0002 (60,000,000 /11) 54,545
OSd 20tz & SYF=1E 2242 (128)
100,000, 0002 —( 100,000,000 /11) 90,909
OZN2 L& ZAEAFIE 2242 (28)
10,000, 0002 -(10,000,000&/11) 9,090
OBHH2E HHIRY=XE 2222 (128)
140,000, 0002 (140,000,000 /11) 127,272
OBlo28 H28g=Xt& a4+ (12g)
70,000,0002!-(70,000,0004 /11) 63,636
OMEIZ CADAZIE @242 (128)
(40,000, 0002 (40,000,000 /11)) 36,363
OBHH4E ZAF=IE R242(128)
(60,000,0002-(60,000,000= /11) )*50% 27,272
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Opts1s MISEFIE a3+ (128)
100,000, 0002 -(100, 000,000 /11) 90,909
OBtS1E H2BE=XE 2332 (12d)
100,000, 0002 -(100, 000,000 /11) 90,909
OetEes GFAE 23+ (129)
(100,000,000 —( 100,000,000 /11) ) *50% 45,454
OptE2s 28 SFUE eI+ (128)
26,000, 0002 -(26,000,000/11) 23,636
ON&2s 3EFxE 23+ (129)
(40,000,000 -(40,000,0002 /11) ) *50% 18, 181
OFAHNNEFIE 23+
40,0003 12JH 2 +1, 1892 +60% 342,432
OAR2ESFIUHE 2=+
52,0003 *12JH 2 *1, 2898 x65% 522,818
216 Ol At==& 360,000 180,000 180,000
216-01 S30=01k=+= 360,000 180,000 180,000
< F=XHE > 360,000 180,000 180,000
O30 =0l k= 9,000,000, 000 *4% 360,000
220 SAIEAN 2= 1,080,600 1,080,600 0
225 Ntae+¢ 1,080,600 1,080,600 0
22501 Nt E4=2 1,080,600 1,080,600 0
< F=XHEL > 1,080,600 1,080,600 0
OXNHEHE FHXRALUHE HEs =
90,000,000 «12& 1,080,000
OSYHMEUEHE Mgz == 50,0002 x12& 600
230 NYAHZHMN - Rit= 3,118,500 3,129,000 10,500
22 OldL M= 10,500 21,000 210,500
232-01 Ol Z M= 10,500 21,000 210,500
< FEXHE > 10,500 21,000 210,500
OFXEEAL oL HS 3,500,000 +3A 10,500
234 LEHE 3,108,000 3,108,000 0
23401 XS UEHS 3,108,000 3,108,000 0
< F=XHFDL > 3,108,000 3,108,000 0
O XSt UEHZ 259,000,000& * 123 3,108,000
500 Ex= 14,000 14,000 0
520 Al - EHIEREX3ES 14,000 14,000 0
521 Al - SHIZEXEZS 14,000 14,000 0
521-01 Al - SHIEXZSS 14,000 14,000 0
< F=XHEL > 14,000 14,000 0
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